Creh XIS 2 oS
38 EH

eries

@& 14: M5, ¢4, 96, 88, 310, 812
ZIZ A|AH! 7|7] SELVACS )
FIEt23 No.CC-796 @ Pﬁg
fint ]
of Jz%
At
EC) VSFU
AE A z7| E
AHS ot el kPa -100-0 .
ojut M um 10
A2 2% e °C 0~60(TH, S 2l )
IT (=)
HEHUSE
VSFU
4 22 o4, 96, 28, 310
2 A @ T4 JIE O EMIIZ A 2o me [ it el
St HA| Bt
O, FLIAH ErY
VSFU -(3)-(1010)-P4 =
N
7|z e
ZIE| AlO|= il
Q| Afo|= O &= ol B2
1S 0f3} HA 2 8cm*(Y2|HE Z0]: 15mm) =
1L o3} HA 4. 7cm*(Y2|HE Z0|: 25mm)
2 of1t H™ 7 5cm? "
3 of3} HE 12.5cm?
G 73 = ¥4 73 -1i= £ & 7 B
[T 5 ¥4 FF-IE 5 ¥4 7 “
w555 =585 44 |04 YE{X T|E— 04 LEX] D i
OLE A0 X—F2 A xgE 66 06 HEX| O] —p6 HEIX| DT
& a7 a4 66 g8 | 1010 | mss 88 28 YIE{X| O|E! — 8 YIE{X| m|E <
e 1010|010 E{X| 1|5 —010 REX| TS -
VSFU-1S [ ] o o M55 M5x0.8 —M5x0.8
VSFU-1L ° ® ° it
VSFU-2 ° °
VSFU-3 o o o
=4 BE
NEEEA - ZE A2[HE
VSFU )- VSFU)-(3)
JES I VES
Qrol= 1 TE| AlO|X1S, 1L ZE OzE o= 1S | ofsf iR 2 gom(2eIHE 20}, f5mn)
2 e AfO| =28 1L 043} A 4 7em’(L2/HE 20]: 25mm)
3 ZIE Al0|=38 2 o2t #H 7.5cm?’
3 of1 H™ 12.5cm? 5%
12k
)E
B
1>
CKD 145

0K

2
3

[is

ivim l¥lc

o
41X

Iy

Iclc bol IS

A
Ol

Bl

k

[}

lalollo






